B Estosrsy MARFA[EX M1EMA] <9HE 2022, 1. 27.> Sl (ww. 2He2| 7t
[ JAesE
23o|2A [ Ixju= MEM
[ 1Zi&H

¥ H2Zo| golAtete oD EAMEIAIZ| Hi2le, [ Jolle siE=EE ol "y " EAIZ §hch,
(4% = M%)
HEHS Hed Xz|7|zt 7 ofuf
H4H(=Z2) FRASEHS

M= = ~

e
Andy FOIRpHE]
4y MdiFerl it 2 FoSEes | FYMss  MAHFL 230|183
(AlFel 1) ZHA| (MEH) HIZHS
[ PIzd&EraAt
[ JHYEXAR(AS
84y MdiFer it 2 FossHs  FUEEE | MAfEHFL 23012
(2"l 2) ZHA| (MEH) HIZHS
WHEEE=
e [ JHEALRAS
A‘—I%’I?—I M =9Qlo Al 235 O EEHS SCHA S & OSm=RA | 25 =)
P Mo M|cH F=2t2 e 7 FOSEHS  FUMIHS MAREFA  Z2s0[2d
< (AlFel 3) ZHA| (MEH) HZHS
[ PIzdgraAt
[ JHEXARAS
dg  MdiFer it R FOSEWs | FUMss  MARHFL 230|183
(A"l 4) ZHA| (MEH) HIZHS
WEHEEE=
[ ™R AR(AS
izl 43 of& | [ Jo(fiez g25) [ JoiH2

r2sto|=xlEH |, M15xo4x1a, 22 B Al M23xol5A1et 3! 22 B A|IHFE H2xM1g - H4x=H1E - A5
ZH1eol w2t fef Zo| 2sto|SAHe [ JalAeE, [ [Meg=Z, [ ¢

¥ MY F oS A-REE TRIEdEY MYE, HM23=220] wE +2 A E RAlSE 29, "E3isnEYH MY, FHE=
Hogll ozt MBS MESHA| gotx oid X[2F0| AS X=(XAS MEM) Ut cigh, 2310|833 7t=9| R57|1ZHS4 54)0]
AUH xl2Fol S22 AFZEHA| oI 2 BIEA Mg MHS sliof gt

L4 = ol
AFel(hzl dFel) (MY = el
shaZetolsfl s fIEE -
°
AN -z 7Y
HEMR | M2 a= TEE US

210mm X 297mm[ 24 AFX|(80g/ m*) EE= ZAX|(80g/m*) ]



Z m2Z%)

(4

=
S

Mo

9

of e dYYE

k

S|
S

X 36=H|1

)

H15%x2l4 &

rEatofezsy,

m
<+

ofu
K

ol

M A

foeh)

=73
==

of 2t &

o+
0
14
10
KO
<d

gl

157 (o2

ol X}
a0 o

MAjoll e ¢l

s

X M3

=E]
=

Z=o|

(

ol)ol A

|

=

Mo
o
o

(

I, Mo+ £ M

P

=

|

| e WHYE 350|180 S2ls
2]

gtof

ksl

=
5T

At
I, MiciZ == AMich

P

=

=

o

(s NS R R EA

M23z=2|3 Zt o

M

olo| 7tsehct

k

2
=

srEY A
gt ct.

P}

|
r2siofsxlg, Hi5x2l4 ¢
Eto

Fod

F

=2
o
ot

re
k), ZHFAMK0A

F

|

gt 144 o]

Zatra(7t

1.

H._
N
ulo

mrm._
N

o
1

X|H =of Qlof A3 H?

oo

fof ALSE %= 2

5

5|

oR

Mol w2} @

Lot

2l H|E

F Lol A TH

x5

)=

KO
o

oM

FE ARSO| 7hsEnt

Jof

~

N1
o
0l
Tl
00

lof
oM

oH

=
o

o2«
=] S}

lof
e

PREIE=PS S

<
pal

X0
Kl
<

RO
<]

I

=2He
M|t

Ao

A
=

b

o

3|

=

o

27|

E

k<]

Al )

(

b

M|z

Al




= H3Z)

S

o

HL

250|232 AlEo
B, M5 - M7= - 22 2

_\.L|Oo|- 7Ho|7HEo| AXI

0|8 & M32

2ol et HE

215101 r‘:'RPOI
H25% - M26=

gAY, HM3BE=23, VHoIME ES

Hxg = | 01[ w2l 2sto|2d wa o A E 4

af Hotel sol& Xt guct,
1. el 2ol =& . 0| 8of st AFBHES)
» 2510|223 22 X1 sl
L ol - Bslolgd YR(WEY) 2 )
TE'Ol"c"; =5 =0 FMAMEA £ 23510|2 A0 rga7|8e 2
s 52 ZXAE HAHA S 2310[23 o|=20f tiFh ME|A okl TZ37|zke| 2Hof
ek HE I1|13 of w2 IHoEER AL
. 0|2 = » MY MoiFete| 2|, FoiXeiHS T4, 23l0|8d H|YHS
2R7|2¢ = 54
» JHQIMEO| & . 0|0l CHEF S22 HESH A2Vt e, 9 HolME £F . ol2
Z9o| HRo| = 0/ of st o= ‘B0l &HE ¥ 0|2 2 st H4H AS0|EZ 9 Aleof
olsfofet Mu|A o|2o0| 7hsehct.
9 Yo Zolghct. Eo|3t Eol51x| 2=
Aol [ ] []
AlFol 2 [] [ ]
AlEQl 3 [1] [ ]
AMEQl 4 [ ] [ ]
2. Mol e =& . 0|80l st AFEH(MEY)
Ljod al XjoH =xlHkA  =5|0|2% ol A M2x S| X|UMH|A H=
o, LI=EIZl HE ohf
+3 -0l B2 » FUNEHS, MAREFEA
2R7|2¢ = 54
» JHolM B o] 7! - o] =20 et o5 HEE A7} lon, Jel™HE 7! - 0|20
S22 HAFo wz 20/ 3t S0/ HESH A ALY o & 2Xjeks S 23510|23 U5 ME|A HS0|
Hste = UG
s FOMEHS E AR 2N 22 250|223 W2 A|AH 2R 2 AKXl g20|
o Al wo|Atst O|RO0IX|X| 42 = ASUCH wZo| X HLl AHERIZE ClA| HXokstE S
HE20| ¢Me £ QoL FHMEMHSE M5t XM FA|7 HPELIEL
2l 2o So|ghct. = o|gt =9|5Ix| &S
AlE ol 4 [] []
Al el 2 [1] [ ]
AMAEQl 3 [ ] [ ]
AEl 4 [ ] []
3. O|MEX} JiQI™ME +F . 0|20 st HACi2|Ql Zo|(2F 144 o]gF E)
(3% BF 144 ojgrel Xjof thajA= BrEA| #Aia|olo] Solsfof Bhct.)
HAEHz(el M™ HAEO 22l mte| A
2 Lo selgtct. so|8 [ ] Zo|5tx| g2 [ ]




H|4%)

o

4. YHHE ZS0[B(MH)
ol2=d = E50| A wWZ - MH[A WS
smme mEog | ¢ ESOISTEW, disZol4 9 THAMSE, MzA1 wet 2 SRl
D WHHE 55032 Sl stol=XlEH AldE |, HM23=2(3 2t S0 W=
olgzr U aoluy :
AHRE =l
of H&Rol = 20[2 |« So|5tX| gte HP AlFHol0| AY A HEME HE
2 o selgct. =ik 2|5t ¢S
AlEol A [1] [ ]
AlFol 2 [1] []
AlEOl 3 [] [ ]
AlHol 4 [ ] [ ]
5. Ziel™ e M 3K M Z(AEH)
Ha=gk= Rb w XY E2EREY | H19Z=ol| wE XG2St
M& g= s (VoM E) MY FOHMSHHS |, MAREFA, Lio|, MEH | HFX|H, o|SLhA
olg 58 = X|9 Lf O|2AI SHET I AL, E30[2H 0|2E Tt HE M=
2872 = 54
of H=o| upz oo " ?lel JHeldE H3KF M3 cHst S2l& AREE AHel7t lend, Jjel™E X Sof
- = =0 st S2l& HEY 4% Esio|8H A5 Mu|A Mol Mt = ALt
2 S0l seletct. == o|stX| &%=
AlE ol A [1] [ ]
AlFHOl 2 [] [ ]
AlHol 3 [1] [ ]
AEQI 4 [1] [ ]
2212 ¢ M2 X .0/=2 5o Ust 22 oMo HWEZ olslisto] Mg},

AEel 1 (Mg =e ol
dgel 2 (Mg e el
dFEel 3 (MY =& 9l
AEel 4 (M =E ol




